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Notes: 
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but condone missing brackets and slips in signs.  

 May be part of a complete expansion but only one of the required terms needs to be of the 

 correct form. 
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 Condone missing brackets and signs. 

 You might see candidates make a slip in, e.g., their binomial coefficients, but have an 

 (essentially) correct method to solve the problem.   

 Note that this M mark is not dependent on the first, so you may be able to award it 

 even if they have made a slip in finding their x3 or x5 term in the expansion. 
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 Dependent on the previous M but may be scored at the same time. 
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 Condone missing brackets and signs. 
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Alternative 

Attempts via the taking out of the common factor can be scored in the same way. 
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Score the remaining marks as per the main scheme. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


